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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819111414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819136991.

70819136992, 2

70819136993.

70819136994, °

Question Number : 1 Question Id : 70819111414 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT, ‘]'|9 xj|dx GE B2 T
-4

Options :

70819136991.

70819136992.
70819136993.

70819136994.

Question Number : 2 Question Id : 70819111415 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geomelric Progression is 3 and the sum of the

9
squares of its terms is s The sum of the cubes of its terms is :

Options :
31
70819136995, -
108

70819136996. 12

m| ~

70819136997.

5
70819136998, 7



Question Number : 2 Question Id : 70819111415 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 £ " 9 ; i
AW QTITEg A *meEg TS 3 @92 o .Wﬁﬁﬂﬁﬁ'ﬂﬂ%;l wE I emeEE Wi

TH9FE 29 ;
Options :
31
70819136995, 1°
108

70819136996, 19

M|E:i

70819136997.

5
70819136998, 7

Question Number : 3 Question Id : 70819111416 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819136999, F =P V4

70819137000. (P~ 9 =P

70819137001, P~ PV @) v (~g)



20819137002, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819111416 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
«Z Boolean expression ofera T TG tautology 209 ?

Options:

70819136999, F =P V4

70819137000. (P9 =P

70819137001, P PV @) v (~9)

70819137002, P ¥ "P) A (@ v (=)

Question Number : 4 Question Id : 70819111417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let |a| <1, [bl<1, |c|<1 and xzj_;a",y: l b" z= lc". If

n=( n=() n=(

1

are in Arithmetic

1

| =

Progression, then :
Options :

70819137003, @ b and c are in Arithmetic Progression

70819137004 a, b and c are in Geometric Progression

70819137005, & 2b and ¢ are in Arithmetic Progression

5 e o
~20819137006. a, b and c satisfy 2b-=ac



Question Number : 4 Question Id : 70819111417 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
'r: .'z._ :1._ @ 1 1 :

4R [af <1, bl<1, <1 @ x= Y a", y=} b", 2=} <"1 Wi 1 L R 2o
n=( n=( n=( 3

[UlC

Options :

70819137003. d, b @92 ¢ FNTES TH 'Q'\.-Ei 24

20819137004, & b T ¢ BTG TIATE 2

20819137005, & 2b @32 ¢ TR THAYE 2

20819137006, & P 9 ¢, 2b*=ac @& *1é Fra T3

Question Number : 5 Question Id : 70819111418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,; MmZ+7n+5
e

1S C‘qual o :
|
-1 I‘Ia

Options :

70819137007, 12e+5

70819137008, 19¢—5

70819137009, 16€~5



70819137010, 16e—7

Question Number : 5 Question Id : 70819111418 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2I.T’nl5

{: 2n
. al U I T
= !

=1
Options :

70819137007, 12e+5
70819137008. 19e—5

70819137009, 16€—3

=]

70819137010, 16e-

Question Number : 6 Question Id : 70819111419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 1070+ (3% (4)°2)+ A is divisible by 9 is :
Options :

70819137011, 2

[F5)

70819137012.

|

70819137013.

[==1

70819137014.



Question Number : 6 Question Id : 70819111419 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M 1050+ (3 X (4)52) + A, 9 =41 [oTey =0, O3 A 97 FAT 4GS SN T A ;
Options :

70819137011, 2

70819137012.

|

70819137013.

70819137014, 1

Question Number : 7 Question Id : 70819111420 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819137015, 455

70819137016, 421

70819137017, 435

70819137018, 4!

Question Number : 7 Question Id : 70819111420 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&3 TA Tl TR 4R TR qUa 4%, 56 @32 6 7 wrml qw @ 4% 7 a1
o @@ 9099 TR AR M @2 @ fely R e fom i T Rem 03 W@ 7 A,
A FO4M 98 2@ WA [99ewa fomty 177y i I0a oI 92 233

Options:

70819137015, 43
70819137016, 421

70819137017, 435

70819137018, 41

Question Number : 8 Question Id : 70819111421 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
| ax—b

Ify= —_1] has an extremum at the point (2, —1), then the values of a and b are :

(x—1)(x
Options:

70819137019, @=1 b=
70819137020, 2=% b=1

70819137021, @=0, b=-1

70819137022.

Question Number : 8 Question Id : 70819111421 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b

TMy=—" @<l R e g (2, —1) W @ a @32 b @7 T A :
(x—1)(x—4)

Options:

70819137019, =1, b=0

70819137020, 2= b=1

70819137021.

70819137022.

Question Number : 9 Question Id : 70819111422 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Thcdﬁﬁnaﬂxﬂmmnthepbnm&?-{2?Ij 2}’|5=0 mml?-lﬁlej 6}JI2=Ois:

Options :

70819137023. 13
70819137024, 4

70819137025, ¢

70819137026.



Question Number : 9 Question Id : 70819111422 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T \2i 47 -2k)+5=0 @3¢ T (67 +3 ] ~6Kk)+2=0 ez w2 7w = ;

Options :
o)
70819137023. 19
15

70819137024, 4

70819137025. ¢

70819137026.

Question Number : 10 Question Id : 70819111423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 :
The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

70819137027. 20

70819137028.

70819137029, 20



b

70819137030, 2V

Question Number : 10 Question Id : 70819111423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

meﬁﬁmﬁmWWWﬁﬁmwwwmm%m%|ﬁmmw#ﬁma
FAYW FA9 58 (9, T4 (FAE GG T FAE ©F HGAA 4
Options :

&

70819137027. 20

70819137028.

70819137029. 2U

.

70819137030. 2V

Question Number : 11 Question Id : 70819111424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The polar form of the cnmplex number 14 { is oqual to:

1—1

Options :

—_ —_

cos — +1i sin—
9 9
70819137031. e =



il . & il
OS5 ——185INn—
) >

70819137032. < <
cosi Fi !ainE

70819137033,  * =
cos i { :arinE

70819137034. ' '

Question Number : 11 Question Id : 70819111424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Eﬁaﬂﬁ_llfﬂﬁﬁ@m_ﬁ:

1—1
Options :
cnsz I isini
2 2
70819137031. ¥ ¥
cos % { sin%
70819137032. = B
cnsi I fsini
70819137033,  * =
cos 1 i ﬁinE
70819137034. ; ;

Question Number : 12 Question Id : 70819111425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :



Options :

]

70819137035.

70819137036, -

70819137037.

70819137038, 1

Question Number : 12 Question Id : 70819111425 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&3 FREAT (1, 0) €2 (3, 0) FYTT AT 2 : 1 TS [Mo@ @ a2 & @09 B[ a9 O
HTFA ax =7 T0A, a G T A :
Options :

I

70819137035.

70819137036, -

70819137037.

70819137038, 1

Question Number : 13 Question Id : 70819111426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2v=0 with respect to
the line x+y=2, is :

Options :



-2 2-— e . - —_
70819137039, X ty~—2x+dy+3=0

"

2+ —4x—2y+4=0

70819137040.

Wil ad o ggd e -
70819137041, 2" +y) —x+y+1=0

2 g g e Py il
20819137042, ¥ty —2x—4y+3=0

Question Number : 13 Question Id : 70819111426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x +y=2 FEEAAAE ACATE 12 + 12 —2x =0 J0&q wofel afelar Jran seae 203
Options:
2 2 e My 4T —
70819137039, & T¥ —2x+4y+3=0

"

20819137040, X H ¥ —4x—2y+4=0

Wl ard gy dy — - it
70819137041, 2" +y) —x+y+1=0

2 2 SO, P af
20819137042, ¥ty —2x—4y+3=0

Question Number : 14 Question Id : 70819111427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x+1)°

22

Equations of the common tangent of the ellipse o =1 and the crcle

(+D2+ (y-12=4 are:
Options :

70819137043, ¥ 13=0 and x-1=0



20819137044, ¥ —3=0 and y+1=0

70819137045, *+3=0 and x—-1=0

y+3=0 and y—1=0
70819137046.

Question Number : 14 Question Id : 70819111427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@+ ﬁ'l)“ =1 Tga @@ (x+1)2+ (y—1)2=4 099 TMqae =pirea TR A :

0? 32

Options :
70819137043, Y+3=09R x-1=0

70819137044, ¥ ~3=0 R y+1=0

70819137045, ¥ 13=0 4938 x—1=0

-3 = g -1 =
70819137046, ¥ T3=0 T y—1=0

Question Number : 15 Question Id : 70819111428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1l a
If A= [“ J , then Ak (ke N) is :

Options :

70819137047.



1 kza

0 1.
Tk ka

0 k

70819137048.

70819137049.

1 ka
0 0
70819137050.

Question Number : 15 Question Id : 70819111428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 .-x=[1 .

; 1},m.ﬂhk{kem] € T =3 ;

Options:

70819137047.

70819137048.

70819137049.

1 ka
0 0
70819137050.



Question Number : 16 Question Id : 70819111429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + .1'3 =5
Xy +2x,+3x,=9
xy+3x;+sx3=t

has no solution, are :

Options :

70819137051, =2, t=13

70819137052, S5

70819137053. °

70819137054.

Question Number : 16 Question Id : 70819111429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xy+x,+ 13=5

xl+-3xz+-51'3=t
s @d2 t O TSF AT T GTRE (T T FEd 797 7
Options :

70819137051, 5=2, t=13

70819137052, S=5

70819137053, S=2 1= 13



70819137054, 1 # 13

Question Number : 17 Question Id : 70819111430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. b 4 1 2x ) 3 | i 1 ( 2x )
Derivative of tan ‘ 5 | with respect to sin 5 | in (1, ), is:
k.] . k_1 | _l"',J
Options :
70819137055,

70819137056, ~ !

70819137057.

2

70819137058.

Question Number : 17 Question Id : 70819111430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 2x ) - 2
sin 1‘ 7| @@ AT tan 1[ | @@ wREE A, (1, ©) @ W ;
k].|.3L'_/. k.]_ x4
Options :
70819137055. :

70819137056, ~ !

70819137057, ©



2
70819137058. ~

Question Number : 18 Question Id : 70819111431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —» — —
‘C‘

=1, It a><|a><c t b=10, then

—_ -3

Let a, b and c be three vectors such that ‘a‘:

b= —
2

— .—>
the acute angle between a and ¢ is:
Options :
am
&)

70819137059.

NE

70819137060.

o
q

70819137061.

5w
12
70819137062.

Question Number : 18 Question Id : 70819111431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks 01

:g—llﬂfﬁ ax[axc +b = U_Caatﬂ?l"

—}‘

arfﬁa,hmwfmﬁmw‘

a7 T TH T
Options :

u
b

70819137059.



NE

70819137060.

w
70819137061, -
5w

12
70819137062.

Question Number : 19 Question Id : 70819111432 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +1?)dx = (tan~ly—x)dy is :

(where c is an arbitrary constant)
Options :

tan "y
70819137063.

i 1, : faerile
70819137064, /B0 ¥ 1tce

_ -1 --tan"lj.;
70819137065, Y tan y—ltce

70819137066.

Question Number : 19 Question Id : 70819111432 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1+y?)dx=(tan~ly—x)dy 9% SRS FASACHT AL 2 :

(c, GG Ao FI5)



Options :

! -1 —tal‘l"lj.l.r
70819137063, Y~ 1 tan ‘ytce

1 tan 'x

70819137064, Y@M ¥ 1tce

- -1 —tan_lj.;
70819137065, *tan 'y ltce

70819137066.

Question Number : 20 Question Id : 70819111433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3

W . % .
The values of x, for which the vectors a = (xz 16)1+4 j— (x"—25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :
70819137067, 1> ~4 v 14 3]

70819137068, [ ~24) (=4 5]

70819137069, (2 ~4) v (& 5)

70819137070, (>4 2 (=49

Question Number : 20 Question Id : 70819111433 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

© &9 T WA T 2 = (:2-16)i |4; (2 -25)k TeRT wmaE WY fired e TPH



Options :

70819137067, L2 —4l < 4. 5]

70819137068, |24~ (=4, 5]

70819137069, (72> ~4) Y & 5)

70819137070, ("> 42 (=49)

Mathematics Section B

Section Id : 708191386
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191666
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819111434 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx is
)

Tj |1+ cos2x
i
uﬁ"l

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819111434 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

= dey (@I I |

Tj T+ cos2Zx
3 Y 2

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819111435 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819111435 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Otanf +4cot?) T FFF IM T@ |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819111436 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819111436 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5 x+6 y-7 z-7 ;
(1,2, 3) 7 e : =j,) = —~ TR ToE 77 WY XA

F

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819111437 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g Sl
If log, 2, log, (2* - 5) and Iog;;' iy % | are in Arithmetic Progression, then the value of x is
2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819111437 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f Fi ;
i log, 2, log, (25~ 5) @3¢ log, | 2° ’;\ﬂmmﬁ‘m qFA A TIZE
3 2 10g; - (i

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 25 Question Id : 70819111438 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S W
If x24+x+1=0, then J{I i| l |ﬁx2
x)

|\

Response Type : Numeric

4 22
| |fx3 i\ l is
' 1’3/' ]

=
.1'2 s
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819111438 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
g 1 \2 1 \2
i 2241 +1=070 TA J.{x 4 ||"x2 = ||”x3 e
[‘ X ) |\ :

X/
Response Type : Numeric

| amma

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819111439 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x> +y?—4x—2y—-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819111439 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(4, 5) % 1@ 224+ 2~ dx— 2y~ 11 =0 J0EA TR o s o 391 29, @ =R @3e @
0T e AT W ] S SSEa e TA (I @) |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819111440 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819111440 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

faom foraeiel, Toaw @@2 TR T3 15 ¢a2 O F0efa TS 117 | 94 Sifen 4058 3 T4
A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819111441 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular

to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c|)=1,
then |at+b+c+d|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819111441 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T AWEA (1, 2, 6) €33 (2, 5, 7) qord @a2 dx—y+z=15 eeR T 73 TG A
axtby+cz+d=01 7 a, b, c,deZ, ged (ja), b, |c])=1TT3 jatb+c+d| €3 T4 23
|

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dr 7w .,
The number of real solutions in the interval [ ' -‘ of the equation 4sin“x — 8sinx + 3=1

15

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819111442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[ f; %} TR T4 dsin®y — Ssiny +3 =0 FAPACTE G TG R LA
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 30 Question Id : 70819111443 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1,110
Let Aj, Ay Ay o be an increasing geometric progression. If T4 \_{.,_h_ﬁ and

A:A.=441, then 3(A,+A,) is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819111443 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
I I 10

41 Ay, Ay A, ... @3 FWRYTT gromey wad | W, A, A, 8 9
AA, =M1, TEAZA+A) @ T |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Aptitude Test



SectionId : 708191387
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191667
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819111444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the “‘UNESCO" ?

Options :

70819137081 United Nations Educational, Scientific & Cultural Organization.

70819137082, United Nations Educational Sc-curit}-' Cultural Drgani_zatifm.

70819137083, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819137084.

Question Number : 31 Question Id : 70819111444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ferfeifirecna T TG STAcE’ (UNESCO) @ #ofehef ?



Options :
20819137081, AT AR FrenErs, (FEiae @2 AFReE Haa

20819137082, TAE M FTERET® Jw! MeFfos Heston

70819137083, V3T G AT FF TIF AL

70819137084, 1IT ACEA S, FOVRETAA G MG ST Ao

Question Number : 32 Question Id : 70819111445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I) Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (c)
(IV) Secretariat (d)
Options :

70819137085, (D-(b), (ID-(a), (ID)-(d), (IV)-(c)

70819137086, (0) (ID-(d), (IID)-(a), (IV)-(b)

20819137087, V@), (ID-(b), (ID)-(c), (IV)-(d)



20819137088, OBy (Ha), (<), EV)L{d)

Question Number : 32 Question Id : 70819111445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SifeTei-1 «a A Siferi-11 T8 |

Siferasl-1
(I) == SF = (a)
(I) TS, CoDETeT- (b)
(II) TR GreamE (c)

(IV) TREbEas (d)




Options :
70819137085, (-(b), (ID-(a), (ID)-(d), (IV)-(c)

70819137086 (D)-(c), (ID)-(d), (ID)-(a), (IV)-(b)

70819137087, 1) (I)-(b), (D-(c), (IV)-(d)

20819137088, 4 (THa), (IHc) EV)Hd)

Question Number : 33 Question Id : 70819111446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819137089, D1, (-0, (-, (IV)-(a)

70819137090, (D-(b), (ID-(d), (T)-(c), (IV)-(a)
20819137091, (D), (I)-(@), (D)-(b), (IV)-(d)

70819137092, - (B)- (ID-(@). AId), (IV)-()

Question Number : 33 Question Id : 70819111446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
SIfeTl-1 & A SifeTar-11 TS |

ifeTest-1 wiferai-11
(I === (a) TECETam aca@aE o
(Im) e (b) IWT T
(I Frezea e (c) =% wfEm
(IV) =re (d) o v
Options :

20819137089, Wb}, (I)-(c), (HD-(d), (IV)-(a)

70819137090, (D-(P), (ID)-(d), (I)-(c), (IV)-(a)

20819137091, (D), ()-(@), (I)-(b), (IV)-(d)

70819137092. (D-(b), (I)-(a), (TID)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819111447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819137093, D-(b), (ID-(c), (IID)-(a), (IV)-(d)

20819137094, D-@), (ID-(b), (IID)-(c), (IV)-(d)

70819137095, 1) (D-(a), (ID-(d), (IV)-(b)

20819137096, V- (0), (I)-@). (D~(c), IV)(d)



Question Number : 34 Question Id : 70819111447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SifeTel-1 «@ ALY SifeTH1-11 TS|
wiferest-1 Siferel-11
@® ol (a)
(1) =G $o{Em (b)
(1) =T e (c)
(IV) e 9Fwa (d)
Options :

70819137093, 1)-(B), (I)-(€), (D)-(a), (IV)-(d)



70819137094, (D-(@), (ID-(b), ([D)-(c), (TV)-(d)

70819137095, (D9 (D-(@). (HD)-(d), (IV)-(b)

20819137096, V(D) (ID-(@), (D)-(c), (IV)~(d)

Question Number : 35 Question Id : 70819111448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITI) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

70819137097, (D-(€)- ()-(d), (ID)-(b), (IV)~(a)

70819137098, (D-(©). (I)-(d). (ID)-(a), (TV)-(b)

70819137099, (D-(d), (ID-(b), (ID)-(c), (IV)-(a)

70819137100, (D-(b), (I)-(d), ([D)-(a), (V)-(c)

Question Number : 35 Question Id : 70819111448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wifere-1 @@ A Sifers-11 s |

Siferai-1 Sifere-11
() =Awag TaT (a) WA
(I fagp wra (b) Yo
() 2w () forrema
(Iv) =7 wFm (d) IFEm
Options:

70819137097. (D-(c), (ID)-(d), (II)-(b), (IV)-(a)

70819137098, (D-(¢), (I)-(d), (ID)-(a), (IV)-(b)

20819137099, (D-(d), (ID)-(b), (ID)~(c), (IV)-(a)

70819137100, (D-(b), (ID)-(d), ([D)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819111449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11.
List -1 List - 11

(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi

(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819137101. (D-(a), (II)}-(d), (IID-(b), (IV)-(c)

20819137102, (D-(d), (ID-(c), (D)-(a), (TV)-(b)

20819137103, (D), (ID)-(c), (LD)-(b), (IV)-(a)



70819137104, (8- (), (HD-(d), AV)(<)

Question Number : 36 Question Id : 70819111449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifere-1 «a s wifers-11 e |

wiferel-1 wiferel-11
() TzEmsg gl (a) ZEEEW™
(I % wf (b) TG
(1) Tsmaceen pof (c) Ta@
(IV) =1 T3ferma (d) TR
Options :

20819137101, (D-@), ()-(d), (I)-(b), (IV)-(c)

20819137102, (D-(d), (I)-(c), (ID)-(a), (IV)-(b)

70819137103, (D-(d), (ID-(), (D)-(b), (IV)-(a)

70819137104, 0@ (-(), (I)-(d), (IV)(c)

Question Number : 37 Question Id : 70819111450 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819137105, BV Doshi

70819137106. Arundhati Roy



70819137107, Revati Kamat

70819137108, Dimal Patel

Question Number : 37 Question Id : 70819111450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘51T &% E A F5fb (FW TR gefefan wrE Tan ?
Options:

70819137105. fRfe. ona

70819137106, Fane T

70819137107, TS FETS

70819137108. ' :

Question Number : 38 Question Id : 70819111451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options:

70819137109, CUiarat

70819137110, "Vest Bengal

70819137117, Tamil Nadu



70819137112, Rajasthan

Question Number : 38 Question Id : 70819111451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QA T EETE Eee S e onew I 7
Options :

70819137109, ZF0

70819137110, ToF %=
UL GG
70819137111, =

70819137112, o€

Question Number : 39 Question Id : 70819111452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction 7
Options :

70819137114. South-East side

70819137115, Vorth side

70819137116, >outh-West side



Question Number : 39 Question Id : 70819111452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TS TRt TIPYH Y 34 e TS 203 F(A AA12S = 2
Options :
70819137113. Taa-+ff i

70819137114, -7 i

70819137115, 50 7%

70819137116, Todl-#*5% i

Question Number : 40 Question Id : 70819111453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options :
70819137117. Bharat Bhavan in Bhopal

70819137118. LIC Building in Delhi

70819137119. Charminar in Hyderabad

70819137120. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819111453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
fosfatie fafeme ofea T =t St e toE sRpae 30a 2

Options :
70819137117, 9199 O 2 T

20819137118, &-92.F71. e 3= fa
70819137119, PIAEAA 3 ZHERTS

20819137120, TSCER TR 2 FarPre]

Question Number : 41 Question Id : 70819111454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options :
70819137121. 420 x 590 (mm x mm)

70819137122. 420 x 594 (mm X mm)

70819137123, 297 %420 (mm x mm)

70819137124, 4207592 (mm > mm)

Question Number : 41 Question Id : 70819111454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
A2E HiFE F60Ea 3 9 =7 7
Options :

20819137121, 420 %590 (RLfL xfafa)

70819137122, 420 %594 (RfL. xf.f,)

70819137123, 297 %420 (R xff,)

70819137124, 420 %592 (AF. xF.f)

Question Number : 42 Question Id : 70819111455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :
70819137125. Chittor fort

70819137126, J2igarh fort

70819137127, bhangarh fort

70819137128, ‘+mer fort

Question Number : 42 Question Id : 70819111455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘fo%a rema’ o el 75fte =g 7



Options :

o= waf
70819137125. ~

70819137126, =37© T

70819137127, o ¢ Pl

70819137128. : Fﬁ(

Question Number : 43 Question Id : 70819111456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819137129, Sanjay Puri

70819137130, ¥ ikram Lall

70819137131, ‘ishok Lall

70819137132, & “ompura

Question Number : 43 Question Id : 70819111456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ffafe geferm o 3 afsale wrma o’ S «fas FEce ?
Options :

70819137120, &9



70819137130, 9@ @A

70819137131, ie Tk =T

-

70819137132.

Question Number : 44 Question Id : 70819111457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819137133. Charles Correa

70819137134. Richard Mier

70819137135 Jasbir Sachdev

20819137136, Ramit Sabliki

Question Number : 44 Question Id : 70819111457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Sferes fara’ sifba @ gefed ©o@ ?

Options :

70819137133, ° i

70819137134, [T0T6 W24



70819137135, % :

70819137136, GO TR

Question Number : 45 Question Id : 70819111458 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Agenda 21" is declaration related with :

Options :

Climate change
70819137137.

7081913713, Clobal warming

70819137139, ~ustainable development

70819137140, Smart city

Question Number : 45 Question Id : 70819111458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“eTE 217 TAREh ST A THAES ?

Options :
70819137137, T TREF TS
70819137138, |74 TR

70819137139, TVCVZIICaA TrE



70819137140, T0 *=H

Question Number : 46 Question Id : 70819111459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819137141. Karnataka

70819137142, Orissa

70819137143. Maharashtra

70819137144, Uttar Pradesh

Question Number : 46 Question Id : 70819111459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819137141, F5

70819137142, ‘I

oy

70819137143, 7=

70819137144, 77 &0



Question Number : 47 Question Id : 70819111460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819137145, North

70819137146, >0uth

70819137147, Cast

70819137148, "Vest

Question Number : 47 Question Id : 70819111460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WiaEel LAY BRI S T @ CATE AT 7
Options:

70819137145, %

70819137146,

70819137147. ‘pr(f

70819137148.

Question Number : 48 Question Id : 70819111461 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

T .
70819137149, >V Doshi

70819137150, Laurie Baker

70819137151, ai Rewal

70819137152, “xchyut Kanvinde

Question Number : 48 Question Id : 70819111461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A2 TIaer ¥l Afelam, R faheem g™ 2018 aowa Ty fare -

Options :

70819137149, 3-1<. T
70819137150, N4 (3%

70819137151, & LASM=

70819137152, &S FECT

Question Number : 49 Question Id : 70819111462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Word “Bungalow” has originated from :
Options :

70819137153, Bengalurm

70819137154, Banaras

70819137155, bengal

70819137156, Dari

Question Number : 49 Question Id : 70819111462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“Bungalow” WD (I BT AT AR 7
Options :

70819137153, IS

70819137154, T

70819137155, “ 7

70819137156, T°

Question Number : 50 Question Id : 70819111463 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The [IM - Ahmedabad is designed by which of the following Architect ?

Options :

70819137157, Laurie Baker



70819137158, Louis Kahn

70819137159, utyen

70819137160, Le Corbusier

Question Number : 50 Question Id : 70819111463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
IIM - SRCMIAW T3l g4ife @ fesfars ?
Options :
70819137157, A T3

70819137158, 321 1=

708191371509. Cl

70819137160, 17 FH1EE

Question Number : 51 Question Id : 70819111464 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :



70819137161, 1%

70819137162, 13

70819137163, 12

70819137164, 18

Question Number : 51 Question Id : 70819111464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fermnfes foca o3 spee wfFs =g 2
Option:

70819137161, 1%
70819137162, 13
70819137163, 19
70819137164, 18

Question Number : 52 Question Id : 70819111465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819137165.
I
I
70819137166.
.
_I .-
| |
70819137167.
I | |
70819137168. ]

Question Number : 52 Question Id : 70819111465 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e wie Paafe o Fa= o4 Braa 386 3-D e e T A valb w@re o |

Options :
I e
1 |
70819137165.
I
I
70819137166.
-
_I .-
| |-
70819137167.

70819137168.



Question Number : 53 Question Id : 70819111466 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
708191371609.

N
70819137170.

Il
70819137171.

70819137172.




Question Number : 53 Question Id : 70819111466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 572 <7l T Ter re rae TR Te | S ve five formm ey v o e
% |

-

Options :

A
708191371609.

N
70819137170.

I
70819137171.

70819137172.



Question Number : 54 Question Id : 70819111467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819137173.

L
70819137174.

[ 1
70819137175.

70819137176.



Question Number : 54 Question Id : 70819111467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o 0@ 00T T 7 10 TR TR o TorE TR SR T TeTe TRl ANGTE A0S
TRITE (@9 TheTd oed foaaf@ tare e foall 7ae 34

p—
|

Options :
70819137173.

L
70819137174.

[ 1
70819137175.
70819137176.

Question Number : 55 Question Id : 70819111468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819137177.

70819137178.

70819137179.

70819137180.

Question Number : 55 Question Id : 70819111468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 572 o T 7 10 TR Z0ace) A e TR Sitad e 1 TRITE T R

<>

T

Options:

70819137177.

70819137178.

70819137179.

70819137180.

Question Number : 56 Question Id : 70819111469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819137181. >
70819137182. D
70819137183. v
70819137184. ﬁ

Question Number : 56 Question Id : 70819111469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

femiree foaafem W e @3 BF 32 T 3 33 Seqd e o f5a 4% ond wE
Hio foafs ame2 e |

Options :

70819137181. §



70819137182. D
70819137183. ;
70819137184. ﬁ

Question Number : 57 Question Id : 70819111470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819137185.

70819137187.

W
70819137186. Q
0
N

70819137188.



Question Number : 57 Question Id : 70819111470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfee Padhm o e &l e @3t Tr «ae 33 SfeTe wike o1 ira 9¢ o w g |
Wi foafh I Fa |

Options :

70819137185.

70819137187.

W
70819137186. Q
0
N

70819137188.

Question Number : 58 Question Id : 70819111471 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the pmhlc-m t’igurr_- insame size and direction.
Select the correct one.

Options :

70819137189.



N

70819137190. :
70819137191. :

70819137192. D

Question Number : 58 Question Id : 70819111471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fmfes fonafm wu e 3 f5a @32 Trem 32 933 wfoary oiEe 4% 5@ 2 o =ie 7%
foas a3 o |

Options:

70819137189.

70819137191.

N
rsimso. C

A

>

70819137192.



Question Number : 59 Question Id : 70819111472 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819137193. D
70819137194. D
70819137195. O
70819137196. f

Question Number : 59 Question Id : 70819111472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fmfEs haalm wy 1we @ e @3 Mer @2 «F W3 oiEs o g e oF ong | A0
foafs a3 T |

Options :

70819137193. D



70819137194. D

70819137195. O

70819137196. #

Question Number : 60 Question Id : 70819111473 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures is correct mirror image of problc-m figuro with respect to
X-X?

X
O
[]
X
Options :
]
70819137197.

70819137198.



]
[l
]
70819137199,
[
[]
70819137200,

Question Number : 60 Question Id : 70819111473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ferfes foraa W T @ foafh T O o fora trea X-X wefd aifefafie Fat 7

X

O




Options :

70819137197.

70819137198.

70819137199.

70819137200.

Question Number : 61 Question Id : 70819111474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problem t’iguro with
respect to X-X ?

N\
A

N\
(D)
@J

AON
NZ;

70819137204.



Question Number : 61 Question Id : 70819111474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ferifes foram W tacs o foa e =a o fora trem X-X wefa Afefafae Farg 2

X X

Options :

70819137201.

D)
N

70819137202.

¥,

e

70819137203.

AON
N2

70819137204.



Question Number : 62 Question Id : 70819111475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819137205. /
N
NV
N\
70819137206. /
N
P
N/
70819137207. /[\

70819137208.



N4
AN

Question Number : 62 Question Id : 70819111475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feres f5raa T 1ate @ 5l s T o fora Traa X-X weid efefafae Fame ?

7 X
TN

N
7
N

Options :

NN

70819137205.

LA

70819137206.

70819137207.



70819137208.

Question Number : 63 Question Id : 70819111476 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

708191372009.

70819137210.

70819137211.



N
S

70819137212.

Question Number : 63 Question Id : 70819111476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
% Toafbee o Face 2 Ten faanafe wure #e Hab aeE w1

Options :

74
70819137209.
70819137210.
70819137211. |

70819137212.



Question Number : 64 Question Id : 70819111477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819137213.

70819137214.

70819137215.

70819137216.



Question Number : 64 Question Id : 70819111477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 T57@ e 3-D 7B, Bt i Tt vt T Traa B foaafen tute wow f5afl e e

3

Options :

70819137213.

70819137214.

70819137215.

70819137216.



Question Number : 65 Question Id : 70819111478 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819137217.

70819137218.

70819137219.



70819137220.

Question Number : 65 Question Id : 70819111478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 572 17w 3-D 785, B2 i 1t Thate (e T T aafen turs oo foafl e )

= =
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Options :

70819137217.

70819137218.



70819137219.

70819137220.

Question Number : 66 Question Id : 70819111479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819137221.

70819137222.

70819137223.

70819137224.



Question Number : 66 Question Id : 70819111479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 572 Tre 3-D 7, Bt s e TRt (e 1A T aa@ e #os s e el

%

Options:

70819137221.

70819137222.

70819137223.



70819137224,

Question Number : 67 Question Id : 70819111480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/ﬂ

Options :

70819137225.

70819137226.

70819137227.

70819137228.



Question Number : 67 Question Id : 70819111480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
o1 502 T/ 3-D 781, Saa 13 12013 TRATA T3 174 B e 123 s foas e e

/

Options :

70819137225.

70819137226.

70819137227.

70819137228.

Question Number : 68 Question Id : 70819111481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819137229.

70819137230.

70819137231.

70819137232.

Question Number : 68 Question Id : 70819111481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 5@ Trew 3-D 785, Sitaa 79 TUTS TR (o hAITd ©ed haald e wiie foals e o)

7

Options :

70819137229.

70819137230.

70819137231.

70819137232.

Question Number : 69 Question Id : 70819111482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819137233.

70819137234.

70819137235.

70819137236.

Question Number : 69 Question Id : 70819111482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 7@ Trew 3-D 745, itaa 79 1903 TR (oW AT bad SaafE e i fhafs W 9

i

Options :

70819137233.

70819137234.

70819137235.

70819137236.

Question Number : 70 Question Id : 70819111483 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/1

Options :

70819137237. '

70819137238.

708191372309.

70819137240.

Question Number : 70 Question Id : 70819111483 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 7502 Traq 3-D 95, OTad 1@ 103 TwATE (@ (WA Ted TawfH tare e el e a9

/ﬂ

Options:

70819137237. '

70819137238.

708191372309.

70819137240.

Question Number : 71 Question Id : 70819111484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819137241. —I

70819137242. l

70819137243.

70819137244.

Question Number : 71 Question Id : 70819111484 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



of%| 7502 Tram 3-D T8, Braa e T TRITE (e thAITd Bad hawtH e e e e o

/I

Options :

70819137241. —I

70819137242. l

70819137243.

70819137244.

Question Number : 72 Question Id : 70819111485 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819137245.

L]
70819137246.
70819137247. [:]

L]

70819137248.

Question Number : 72 Question Id : 70819111485 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 fota trea 3-D 7@, Btea frs 1ot Tvatet T Traa T foamass tars o foafl e e

y

7

Options :

70819137245.
70819137246.
70819137247.

70819137248.



Question Number : 73 Question Id : 70819111486 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819137249. l l

|
70819137250. | |
70819137251. | I

||
70819137252. l

Question Number : 73 Question Id : 70819111486 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 7@ T7a® 3-D 7515, Oad 9 1U0@ T o thed B hawE e e fhafh wee o)

Options :

|
70819137249. | |

|
70819137250. | |
70819137251. | I

||
70819137252. l

Question Number : 74 Question Id : 70819111487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819137253.

70819137254,

70819137255.

70819137256.

Question Number : 74 Question Id : 70819111487 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o4 fora e 3-D 78 , O fre 1ate tRITE (oue Tree e Badfe e Wie Bl we
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4

Options :

70819137253.

70819137254.

70819137255.

70819137256.

Question Number : 75 Question Id : 70819111488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819137257.

70819137258.

708191372509.

70819137260.

Question Number : 75 Question Id : 70819111488 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 5@ e 3-D Thore ¥9a g 1208 T o TRTE ed gl rare Whie el e
T |

Options :

70819137257.

70819137258.

70819137259.

70819137260.

Question Number : 76 Question Id : 70819111489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819137261.

70819137262.

70819137263.

70819137264.

Question Number : 76 Question Id : 70819111489 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% 5@ s 3-D FH(E ¥4d e 10 TRITA 1o TR e foaafd tare wiie f5aft wre
Fiepe] |

Options :



70819137261.

70819137262.

70819137263.

70819137264.

Question Number : 77 Question Id : 70819111490 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819137265.

70819137266.



=

70819137267.

=

70819137268.

Question Number : 77 Question Id : 70819111490 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 5@ raT 3-D Thre Tor e (90 TRTE @ TRTE ©e feaafa e s fals e
3% |

Options:
70819137265.
70819137266.

70819137267.



=

=

70819137268.

Question Number : 78 Question Id : 70819111491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819137269, () and (B)

(B) and (C)
70819137270.

70819137277, (©) and (D)

70819137272, (P) and (&)

Question Number : 78 Question Id : 70819111491 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
S PSR WA T TG AT P GRS Sl AR Fag Ao Dasns Igy a6

(A) (B)
(€) (D)
Options :

70819137269. e feals
70819137270. A
70819137271. Rt 1D
70819137272 St

Question Number : 79 Question Id : 70819111492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

v vi—mHd
v —54
Options:

[T
70819137273.




70819137274.

70819137275.

70819137276.

Question Number : 79 Question Id : 70819111492 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o) 7@ Tram w4 <3l Tma 0o 7d 10 TR | @3 FEH0S Sad T TATE TRITA T TR
e foafs 7are a1

Options :

I
70819137273. |-|-

70819137274.

70819137275.

70819137276.



Question Number : 80 Question Id : 70819111493 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819137277.

70819137278.

2 2 4

70819137279.



70819137280.

Question Number : 80 Question Id : 70819111493 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o) v e T4 @3l 7 Boa T 10 TR | 62 TEH(E Oad e 103 TRITE 13 TR
wie 52l e %1
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Options :

70819137277.

70819137278.

70819137279.



70819137280.

Drawing
SectionId: 708191388
Section Number : 4
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191668
Question Shuffling Allowed : No

Question Number : 81 Question Id : 70819111494 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
tedquues of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819111494 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 82 Question Id : 70819111495 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.

OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOIDB:SIZE5 cmx2 cmx 2 cm, 4 Nos.
Use “Cool Colorscheme” for composition.

Question Number : 82 Question Id : 70819111495 Question Type : SUBJECTIVE
Correct Marks : 50
S Tewad @l 71 527 % 3341 3¢ 3999 FA|
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(i) T A W 2 cmx 2 cm X 2 em, 561
(i) THB:TH 5 cmx2cmx2cm, 48
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